Instruction for installation

CaBLermaTic

\ Ascrew bore 2-M5X0 8from offend of @5 woods use the screw

o 220 S |
The coping_ofthe door
/
MK S .
——] —
€y
f\‘ G—_‘ 4-M5X0 8 fr ffend or th d
A y om offend or the wood of 85 uses the screw :E:’
i
< |
202 - 105 X
Itis left to open a paperrules

* R

—3<

-

Technology Data & Funcation

Suit for door width: <1000 mm

Loading door weight range: 40 - 60kg

Door closing angle degree: 180° -20°
20° -0°

Door closing lock angle degree:
Spray plastic cement& rocker arm, guard against corruption.

Precisr seal of fuel tank,forestall oil leak out.
High quality cast of aluminum alloy fuselage,
three folds shing paint,guard against oxidize.
Two hydraulic pressure mech,theycontrol two stop gate and
control the rate of deadlock also control hydraulic pressure

High carbon steel gear whells,high carbonsteel racks,

treat by high frequency become deformed smaller nimble function.

The fixed position type closes door the machine installs the énnouncements

will damage the machine.

the ceasing appearance,should

1,before installing,cannot close door the stalk of The stalk of the wheel gear over 180 degree,otherwise,
2,use to shake the arm adjust to try the wheel gear, be to turn 180 degree, the wheel gear will be places in

while trying,but the wreath of Break closes door the machine.
3,close door the tool have the auto close function,strictlying forbid by hand the habit pulls door.

on time reply originally position,the in order to prevent adjust again

The decision opens the direction of the door

Pass a speed adjust valve

The 1adjsts soon screw control a pass a speed
The 2adjsts soon screw control a pass a <peed

Its adjustment method s slow for clockwise hour of
The needle direction is then quick.

This tow machine applies any right open door
or lef open door, please be instructioned to
decidr according to the next diagram before
gearir g 1ts open a direction

e Pass a buffer angle \
iy Left W\ Right
Pas d:.p_eed adjust valve ., ; \._\\ quick @ I‘.land i |
Gum Gum chair o P <
chain , Inside ' Ao\ Adjust
N - Segment 1 Pass «oor speed N the screw
=
== A e
L2 outerde Q‘af‘(— , \ Announcements:
S rl o = 411 4¢
Door a - - L ) Seqment 2 Pass door speed Adjust soon the cannol Turn in
o e screw outs the machine flat surface
, A close door the machine otherwise
Hpe It is right to o L -
It is left t- open door 9 pen door i will leak the oil namely, again can't

positive often work |




— - i’ Come the frame
220 >
| ?
Th e Cco p I ng Of the dOOf Ascrew bore 2-M5X0.8from offend or 5 woods use the screw/

50

20

20
0

Door
" )
b

105 202

19

4-M5X0 8 from offend or the wood of 85 uses the screw

-

Itis rightto open a paper rules

> >€ -
Installation steps diagram (The top diagram a row arithmetic figur installs the size for the standard,shearing along the line the bottom can immediately make the gearing paper rules)
1. take the gearing size 2. Instll the machine \ -”‘:'Z\C:\.__ Conponcton 3. fix conjun ction

Dnll a hole according to the

fanlight the position install
the machine and fix with
4screws

Ascend according to a frameg of
drill a hole the position install
to connect connect and fix with
2 screws.

press according to the way of the
designation the paper rules in door

and a frames on, and fix with the tape
good and mark out 4.2 bores on the door,
mark out on a frame moreover two bores
that link. and the usage arills a hole the CN's®! —
machine ®5 0 of bore. metals door such

x30 € @ Head(The wood door uses'

Gum chain

. |
as the usage Hour must of offend again %y \
3
the tooth Hammer o . \’ ®Head l
The edge line of the door o ) . M5x1.0x12¢€ ea
(pintle it revolve the center) 5 NS - $5x30 € DHead (The wood Hoor uses) (The metals door uses’ \

M5x1.0x12 ¢ @ Head (The wood door uses)

Door

5. Combine to drive the plank
with adjust the pole

Will adjust the pole adjus! and a frame 90
Combining will drive the plank and adjust

the pole with the screw Fix

4. combine to drive the plank 6.complete the combination

Will drive the plank inside it everywhere

2 . type into the slot of Everywhere type,
S _ S and fix with the screw

Install to complete,and a cover.

Screw

Wheel

ear a cover

(=]




